B @
B-TECH @MEILINTS'

BT7012

PURLIN MOUNT
FOR B50MM POLES

PARTS LIST

(¢
—
—
—)
[—)
—]
—
=C
==
(=)
L
T
[~ =]

@ )
'um( Y

ITEM PART NAME QTY
1 TUBE ASSEMBLY 1
2 | ANGLE MOUNT ASSEMBLY 1
3 | LARGE BACK PLATE 1
4 | SMALL BACK PLATE 1
5 M8 x 65mm SCREW 1
6 | M8 x6mm GRUB SCREW 8
7 | M10x30mm BOLT 5
8 | MT10ONYLOCNUT 5
9 | M5x20mm SCEW 1
10 | M5 WASHER 1
11 | M5 NYLOC NUT 1
12 | 5AF HEX KEY 1




B ®
B-TECH @ MOUNTS®

BT7012

PURLIN MOUNT
FOR B50MM POLES

PRODUCT DIMENSIONS

(¢
—
—
—)
[—)
—]
—
=
==
(=)
L
T
[~ =]

TOP VIEW BOTTOM VIEW Q&
'»‘;&
1 - ﬁﬁh — 2X £10.2mm ( 0y
€ = £ (o] o]
g o o’j £
| O i\ 00
mr‘E‘L* - 2
g 130mm
N
N 180mm Note: Ensure item 10
does not protrude
REAR VIEW SIDE VIEW through the inner face.
180mm - £
S
- 130mm . 5 79.6mm _ 131.8mm 141.8mm
A 75 Max
O o o
E ‘ Max45 T Max 45 S |
& T
o .
4x $10.2mm
£ ‘ £
£ . £ é (0]
S E w F | o A
m g © N N
S| I |
N 1
E ° ° ° °
O
(o]
| { ° ° ° °

GG



